Episode 40. Maclaurin series for trigonometric functions

Meclonns smer for  [fOI=HX

v 4
=20 g (D 0 0 .
J \/
h=29 /
Jth X h=0, 6 4,¥
7[[h)/><): Cos X ) k=1, 5,1
- Stax ) h=2,6 ,/0
- cosX , h=3 7,1
{h) 0/ h <SS €eve i
7[ /0) = | heise,
H// h_3/7(//
M. stls Sfo BhX <3 - o
x> Xs x7 _ (_,D X
s ¥ A T -/ T

| < /
- = (/7é S
g yc s 7 bonadd = /&)
So Wa ‘< q‘//Y
— A 7
— = [ )A 2h#] X —>(—.3 + .)-(__ _ Lf- 7[_.’
h=0Jd ‘Tl(x 7(?( e
( T60) }
X
/{4(/4m n v ;00/ %( Atk - ’
Sihx X
7; (X) - X ) xs %Y- .
X . ~ X
3 x> .



y =Ti(x)

y = Ts(v)
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y =sinx

y = Ts(x)




